Liczby z kulek



Liczby trojkatne

T = %n(n+1)



Liczby
narozne
kwadratowe




Liczby
narozne
pieciokatne




Liczby

narozne n="1 P,=1
Placolatne n=2  P,=1+4=5
n=3 P,=1+4+7=12
n=4 P,=1+4+7+10=22
n=>5 Ps=1+4+7+10+13=35
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Liczby
narozne
pieciokatne

n =1 P, = 1
n=2 P12= 5% :)3
n=3 P,=12 3
n=4 Pj=22)3
n=>5 P5=35)’3)3
n=206 P6=51) 0 3x 3+ 1



Liczby kwadratowe pieciokatne szesciokatne
narozne
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Liczby

centralne n="1 P1 =1
pieciokatne I P2= 14526
n=3 P,=1+5+10=16
n=4 P,=1+5+10+ 15 =31
n=>5 P;=1+5+10+ 15+ 20 = 51
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Liczby
centralne
pieciokatne
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2a=5
a=2%

3a+b =5
b=-2%

P,=2%n?-2%n+1



Liczby
centralne
szesciokatne
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H, =1

H,=1+6=7
H;=1+6+12=19
H,=1+6+12+18 =37
H;=1+6+12+ 18 + 24 = 61



Liczby
centralne
szesciokatne
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H, = 1

H, = 7% 12)6

H, =19 )6

H4=37) 18)6
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H6=91)30
3a+b = 6

P,=3n?-3n+1









Uzasadnienie 1

n=>5

Jak uzasadnic ten wzor?

3n?2—-3n +1



Uzasadnienie 2
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Uzasadnienie 3
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Uzasadnienie dla liczb
wielokgtnych nieparzystych




Liczby z zapatek
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